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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title:  Calculus   

 

                                     Suject Code :      BSC  

01 

                                        Course Code  UGMM -01 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 

 [k.M v 

 Section- 

vf/kdre vad % 18 

                           Maximum Marks : 18 

iz'u&1  fn[kkb;s fd 𝑥 → 0    
tan 𝑥−sin 𝑥

𝑥3 =  
1

2
 

Q.No. 1:  Show that  𝑥 → 0    
tan 𝑥−sin 𝑥

𝑥3 =  
1

2
 

6 

iz'u&2  ;fn In = ∫ tannn dx
ƛ

4
0

 rks fn[kkb;s fd In + In−2 =  
1

n−1
  

Q.No. 2   If In = ∫ tannn dx
ƛ

4
0

 show that   In + In−2 =  
1

n−1
    

 

6 

 

iz'u&3 oØ dh vuUrLi’khZ ifjHkkf"kr dhft;s rFkk oØ y =  
2

x−3
 dh vUkUrLi’khZ;k¡ Kkr dhft;sA  

Q.No. 3 : Define asymptote of a curve and hence find asymptotes of the curve  y =  
2

x−3
  

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

        Maximum Mark : 12 

iz'u&4 Qyu (log e
x
) 

sin x
 dk x ds lkis{k vody xq.kkad Kkr dhft;sA  

Q.No. 4 : Find 
𝑑𝑦

𝑑𝑥
 of function (log e

x
) 

sin x
 with respect to x.  

3 

iz'u&5 vUrjky [-3,1] esa Qyu f(x)=   𝑥2 + 2𝑥 − 3 𝑒𝑥ds fy, jksys dh izes; dh lR;rk dh 

tk¡p dhft,A    

Q.No. 5 : Verify Rolle’s theorm for the function f(x)=   𝑥2 + 2𝑥 − 3 𝑒𝑥  in the interval [-3,1] 
 

3 

iz'u&6 flEilu 3/8
th
 fu;e dk mi;ksx djds ∫

1

1+x
 dx

6

0
 

Q.No. 6 : Using Simpson’s  3/8
th
 rule eualuate ∫

1

1+x
 dx

6

0
 

3 

iz'u&7 ;fn y= e
an

 sinbn rks fl) dhft, fd y2 − 2ay1 +   a2 + b2 y = 0  

Q.No. 7 :  If y= e
an

 sinbn prove that    y2 − 2ay1 +  a2 + b2 y = 0  .    
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title:  Linear Algebra   

 

                                     Suject Code :      BSC  

02 

                                        Course Code  UGMM -02 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 ;fn W1, W2 nks lfn’k lef"V ,d {ks= F Ikj gS A ;fn dim (W1) = m rFkk dim (W2) = n 

gks rks fn[kkb;s dim (W1 and W2) = dim (W1) + dim (W2)- dim (W1 ∩W2) 
Q.No. 1:  If W1 and W2 be two vector spaces over the same field F. If dim (W1) = m and dim 

(W2) = n  then show that dim (W1 and W2) = dim (W1) + dim (W2)- dim (W1 ∩W2)  

6 

iz'u&2 vkO;wg A=  
1 1 3
3 2 4
3 4 5

  ds lHkh vk;eku rFkk vk;eku lfn’kksa dks Kkr dhft,A 

Q.No. 2  Find the eigen Values and eigen vectors of thel matrix A=  
1 1 3
3 2 4
3 4 5

       

6 

 

iz'u&3 ekuk fd IR
2 
ij f ,d ckbfyfu;j QkWeZ gSA tks f   𝑥1, 𝑥2   𝑦1, 𝑦2  =  2𝑥1𝑦1 −

3𝑥1𝑦2+3𝑥1𝑦2+𝑥2𝑦2 ls ifjHkkf"kr gks rks  𝐵11,0  1,−1 rFkk 𝐵22,1 (1,1)ds lkis{k ,d vkO;wg 

P Kkr dhft,A 

Q.No. 3 : Let f be a bilenear form of IR
2 

defined as f   𝑥1, 𝑥2   𝑦1, 𝑦2  =  2𝑥1𝑦1 −
3𝑥1𝑦2+3𝑥1𝑦2+𝑥2𝑦2then find a 𝐵11,0 (1,1) 𝑎𝑛𝑑 𝐵22,1  1,−1  matrix P with respect to 

B1 and B2.   

6 

 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 fl) dhft, fd leku vkO;wg ds vk;xu eku Hkhs leku gksxsaA  

Q.No. 4 : Prove that eigen values of similar matrices are similar.     

3 

iz'u&5 nks leqPp;ksa dk lefer vUrj ifjHkkf"kr dhft, rFkk fn[kkb;s fd lefer vUrj lkgp;Z 

fu;e dk ikyu djrk gSA   

Q.No. 5 : Define Symmetric difference of two sets. Show that symmetric differences is as 

sociative.    

3 

iz'u&6 ;fn 𝑓: 𝑋 → 𝑌 ,d Qyu gSA ;fn A c X, B c X   rks fn[kkb;s 𝑓 𝐴 ∪ 𝐵  C 𝑓 𝐴 𝑈𝑓 𝐵 .    
Q.No. 6 : Let 𝑓: 𝑋 → 𝑌 be a map. Let A c X, B c X   then show that 𝑓 𝐴 ∪ 𝐵  C 𝑓 𝐴 𝑈𝑓 𝐵 .   

3 

iz'u&7 buj izkstsDV Lis’k dks mnkgj.k ds lkFk ifjHkkf"kr dhft,A 

Q.No. 7 :  Define inner product space with an example.    

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Mathematical Methods 

   

 

                                     Suject Code :      BSC  

03 

                                        Course Code  UGMM -03 

                                                                                                                                                DeefOekeâlece Debkeâ  :  30    

              Maximum Marks:  30  

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

                                                                           [k.M v    vf/kdre vad % 18 

Section-A    Maximum Marks : 18 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

Q.No. 1:  Discuss about the correlation. Define the limits of its coefficient. Also discussion 

about the regression lines.      

6 

Q.No. 2  Discusss about the Hypothesis with its type. Also define level of Significance.   6 

 

Q.No. 3 : 𝑥~ 𝐵 (𝑛, 𝑝) then prove 

                 E (x)  = np 

                 V (x)    = npq 

                 Mxt =   1 − 𝑃  𝑒1 − 1  𝑛  

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

Q.No. 4 : Pie chart and Histogram.    3 

Q.No. 5 : Give that (a) x
3
 + y

3
 – 6xy   = 0 find dy/dx.  

                                (b)  if x = at
2
 nd y = 2at find dy/dx and d

2
y/dx

2
   

 

3 

Q.No. 6 : Evaluate ∫
𝑥

 𝑥+4
    𝑑𝑥

5

0
      3 

Q.No. 7 :  Find           𝑆𝑖𝑛4𝐶𝑜𝑠3𝑥𝑑𝑥 
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title:  Elementary Algebra  

 

                                     Suject Code :      BSC  

04 

                                        Course Code  UGMM -04 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1  Øsej ds fu;e dh lgk;rk ls fuEufyf[kr lehdj.k gy dhft,A  

Q.No. 1:  Solve with the help of carmor’s rule the simuttaneons egns,   

x+y+z = 3 

x+2y+3z= 4 

x+4y+9z = 6 

6 

iz'u&2  60 yksxksa ds losZ{k.k esa ik;k x;k fd 25 yksx lekpkj i= H] 26 yksx lekpkj i= T] 26 

yksx lekpkj i= I] 9 yksx H rFkk I nksuksa] 11 yksx H rFkk T nksuksa] 8 yksx T rFkk I nksuks vkSj 3 

yksx rhuksa lekpkj i= i<+rs gSa rks fuEufyf[kr Kkr dhft, fd de ls de ,d lekpkj i= i<+us 

okys dh la[;k fdruh gSA  

Q.No. 2   In a survey of 60 people, it was found that 25 people read Newspaper H, 26 read 

Newspaper T, 26 read Newspaper I, 9 read both H & I, 11 read both H and T, 8 read both T 

and I, 3 read all these news paper.  Find number of people who read at leas one of the 

newspaper.   

6 

 

iz'u&3 A rFkk B dk eku Kkr dhft,A ;fn   

Q.No. 3 : Find the values of A and B, if     
𝑙−𝑖

𝑙+𝑡
 

36

= 𝐴 + 𝑖𝐵  

6 

 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 lfEeJ la[;k  −3 +  3𝑖 dk /kqzoh; #i Kkr dhft;sA  

Q.No. 4 : Find the polor form of complex number   −3 +  3𝑖  

3 

iz'u&5 fuEufyf[kr vlfedkvksa dks gy dhft,A  𝑥 − 1 ≤ 𝑠;  𝑥 ≥ 2   
Q.No. 5 : Solve the following system of ineqvations.   𝑥 − 1 ≤ 𝑠;  𝑥 ≥ 2 

3 

iz'u&6 ;fn w1, w2  bdkbZ ds ?kuewy gksa rks fl) dhft, (1+ 5w
2
 + w

4
) (1+5w+w

2
) (5+w+w

2
) 

= 64   

Q.No. 6 : If w1, w2 are three cule roots of unity prove that (1+ 5w
2
 + w

4
) (1+5w+w

2
) 

(5+w+w
2
) = 64  

3 

iz'u&7 ;fn lehdj.k ax
2
 -3x +1 = 0 dk ,d ewy 2+i gks rks a dk eku Kkr dhft,A   

Q.No. 7 :  If eqnation ax
2
 -3x +1 = 0 has one root as 2+i then find the value of a.  

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Analytical Geometry   

 

                                     Suject Code :      BSC  

05 

                                        Course Code  UGMM -05 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1  ;fn PSP’,d 'kkado dh ,d ukHkh; thok gks rks fl) dhft, fd P vkSj P’ ij Li’khZ;ksa ds 

chp dk dks.k𝑡𝑎𝑛−1  
2𝑐 sin 𝑥

1−𝑒2    gSA tgk¡ thok ,oa vy ds chp dk dks.k gSA   

Q.No. 1:  If PSP’ is a local chord of a conic, then prove that the angle between the target at P 

and P’ is : 𝑡𝑎𝑛−1  
2𝑐 sin 𝑥

1−𝑒2   where r is the angle between the chord and the axis.  

6 

iz'u&2  fl) dhft, fd js[kk 
𝑙

𝑟
= 𝐴𝑐𝑜𝑠𝜃 + 𝐵𝑠𝑖𝑛𝜃 'kkado 

𝑙

𝑟
= 1 + 𝑐 𝑐𝑜𝑠𝜃 dks Li’kZ djsxh ;fn 

 𝐴 − 𝑒 2 + 𝐵2 = 1   

Q.No. 2   Prove that 
𝑙

𝑟
= 𝐴𝑐𝑜𝑠𝜃 + 𝐵𝑠𝑖𝑛𝜃 the line will touch cone

𝑙

𝑟
= 1 + 𝑐 𝑐𝑜𝑠𝜃 if  𝐴 − 𝑒 2 +

𝐵2 = 1.   

6 

 

iz'u&3 ;fn r1 rFkk r2 f=T;kvksa ds nks xksys ,d nwljs dks yEcor~ dkVrs gksa rks fl) dhft, fd 

mHk;fu"B o`Rr dh f=T;k 
𝑟1 𝑟2

 𝑟1
2+𝑟2

2
 gSA   

Q.No. 3 : If two sphere of radii r1  and r2 cut or thogonally. Prove that the vadius of the common 

circle is  
𝑟1 𝑟2

 𝑟1
2+𝑟2

2
  . 

6 

 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 fn[kkb;s fd ewyfcUnq vkSj fcUnqvksa  a, 0,0 , (0, b, 0) vkSj (0,0, c) ls xqtjus okys xksys dk 

lehdj.k 𝑥2 + 𝑦2 + 𝑧2 − 𝑎𝑥 − 𝑏𝑦 − 𝑐𝑧 = 0 gSA   

Q.No. 4 : Show that the equation of the sphere passing through the origin and points 

 a, 0,0 , (0, b, 0) and (0,0, c) is 𝑥2 + 𝑦2 + 𝑧2 − 𝑎𝑥 − 𝑏𝑦 − 𝑐𝑧 = 0-   

3 

iz'u&5 fcUnqvksa ¼1]2]3½ vkSj ¼2]3]5½ ls xqtjus okyh js[kk dk lehdj.k Kkr dhft,A  

Q.No. 5 : Find the equation of the line passing through the points (1,2,3) and (2,3,5).   

3 

iz'u&6 fcUnq ¼3]&1] 11½ ls js[kk % 
x

y
=  

y−2

3
=  

z−3

4
 ij Mkys x;s yEc dh lehdj.k Kkr dhft,A 

Q.No. 6 : Find the equation of the perpendicular drawn from the point (3,-1,11) to the line 

3 



6 
 

x

y
=  

y−2

3
=  

z−3

4
   

iz'u&7 ;fn l, m, n fdlh js[kk dh fnd~ dksTtk;sa gSa rks fl) dhft, fd l2 + m2 + n2 = 1 

Q.No. 7 :  If l,m,n are direction cosines of a line, then prove that l2 + m2 + n2 = 1  

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Abstract Algebra   

 

                                     Suject Code :      BSC  

06 

                                        Course Code  UGMM -06 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 lewg ledkfjrk ds eq[; izes; dks fy[kdj fl) dhft,A 
Q.No. 1:  State and Prove fundamental theorem of group homomorphism.  

6 

iz'u&2 fl) dhft, fd dksbZ Hkh vuUr lewg (Z, +) ds ledkfjd gksxkA 

Q.No. 2  Prove that ay infinite groups is isomorphic to  (Z, +).     
 

6 

 

iz'u&3 fl) dhft, fd izR;sd fuf’pr bUVhxzy MksEkSu ,d QhYM gksxkA 

Q.No. 3 : Prove that every finite integral domain is a field.   

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ,d vpØh;l lewg dk mnkgj.k nhft, ftlds lHkh mi lewg pØh; gksaA  

Q.No. 4 : Give an example noncycle group whose all subgroups are cyclic.      

3 

iz'u&5 Z 20 ds lHkh; 'kwU; tfur vo;oksa dks Kkr dhft,A   

Q.No. 5 :Find all zero divisor elements of Z 20. 

 

3 

iz'u&6 mnkgj.k lfgr ;wfud QSDVjkftLe MkseSu dks ifjHkkf"kr dhft,A 

Q.No. 6 : Define unique factorization domain with example.  

3 

iz'u&7 fl) dhft, fd ;fn G ,d vkWcsyh lewg gS rks G| Z(G) ,d pØh; lewg gksxkA tgk¡ Z(G), 

G dk dsUnz gksA  

Q.No. 7:  Prove that if G is abelian then G| Z(G)  is cyclic where Z(G) is centre of G.    
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Advanced Calculus  

 

                                     Suject Code :      BSC  

07 

                                        Course Code  UGMM -07 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 lekaxh Qyu dk ;wyIl izes; dks fy[kdj fl) dhft,A 
Q.No. 1:  State and prove Euler’s theorem for homogenous functions.   

6 

iz'u&2 a dks rhu Hkkxksa esa foHkkftr dhft, rkfd mldk xq.kuQy vf/kdre gksA 

Q.No. 2  Divied a into three parts such that their product shall be maximum.   

 

6 

iz'u&3 foykse Qyu izes; dks fy[kdj fl) dhft,A 

Q.No. 3 : State and prove inverse function theorem.   

6 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 ;fn u = f (y-z, z-x,  x-y) gks rks fl) dhft, 
2𝑦

2𝑥
+

2𝑦

2𝑦
+

2𝑦

2𝑧
= 0      

Q.No. 4 : If u = f (y-z, z-x,  x-y) then prove that  
2𝑦

2𝑥
+

2𝑦

2𝑦
+

2𝑦

2𝑧
= 0      

3 

iz'u&5 % ;fn f = IR
3
 → IR ifjHkkf"kr gS f (x,y)  

𝑥3−𝑦3

𝑥2+𝑦3
 A ;fn (x,y)≠ (0,0) ;fn (x,y) = (0,0) 

D;k f, (0,0)  ij vodyuh; gS\ 

Q.No. 5 : Let f = IR
3
 → IR defined by f (x,y)  

𝑥3−𝑦3

𝑥2+𝑦3 if (x,y)≠ (0,0). If (x,y) = (0,0)  Is f 

differentiable at (0,0) ? 

3 

iz'u&6 Kkr dhft,A 𝑥 → 0 
 1+𝑥 𝑦𝑥 −𝑒

𝑥
 

Q.No. 6 : Evaluable : lim  
 1+𝑥 𝑦𝑥 −𝑒

𝑥
 

3 

iz'u&7 fnd~ vodyu dks mnkgj.k lfgr ifjHkkf"kr dhft,A  

Q.No. 7:  Define directional derivatives with an example.  
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Differantial Equations   

 

                                     Suject Code :      BSC  

08 

                                        Course Code  UGMM -08 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

Q.No. 1: (a) Solve  
𝑑𝑦

𝑑𝑥
sin 𝑥 + 𝑦 + cos  (𝑥 + 𝑦) 

               (b) solve  (1+y
2
)  dx  = (tan

-1
 y-x) dy. 

6 

iz'u&2   Solve   (a)     
𝑑𝑥

𝑑𝑥
+  𝑥𝑠𝑖𝑛2𝑦 =  𝑥3𝑐𝑜𝑠2𝑦 

               Solve  (b)    
𝑥2𝑑2𝑦

𝑑𝑥 2 +  
2𝑥𝑑𝑦

𝑑𝑥
− 2𝑦𝑥2𝑙𝑜𝑔𝑥 + 3𝑥 

6 

iz'u&3 Solve   (a)     
𝑑𝑥

𝑚𝑥−𝑛𝑦
=  

𝑑𝑦

𝑛𝑥−𝑙𝑧
=  

𝑑𝑧

𝑙𝑦−𝑚𝑥
 

               Solve  (b)    𝑥 𝑦2 + 𝑧 𝑝 = 𝑦  𝑥3 + 𝑧 𝑞 = 𝑧 (𝑥2 − 𝑦2) 

6 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 Solve   (a)     
𝑑2𝑦

𝑑𝑥 2 =  𝑒2𝑐𝑜𝑠𝑕𝑥 𝑦 0 =  
1

8
  
𝑑𝑦

𝑑𝑥
   𝑎𝑡  𝑥 = 0 =  

1

4
 

 

3 

iz'u&5 % 
𝑑2𝑦

𝑑𝑡 2
−  3𝑥 − 4𝑦 = 0 and 

𝑑2𝑦

𝑑𝑡 2
+  𝑥 + 𝑦 = 0 

 

3 

iz'u&6  r + (a+b) & + abt = xy 

 

3 

iz'u&7   𝑥
2 

22𝑧

2𝑥2 
 − 𝑦2 22𝑧

2𝑦2    
   =   𝑥𝑦

 
3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Real Analysis    

 

                                     Suject Code :      BSC  

09 

                                        Course Code  UGMM -09 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 fn[kkb;s fd [0,1]  ds okLrfod la[;kvksa dk lewPp; vkc) gksxkA  
Q.No. 1:   (a)  Show that set of real numbers in [0,1] is un bounded.    

                 (b) vuqØe dh  
2𝑛2

𝑛2−3𝑛−5
 dUotsZUl dk ijh{k.k dhft,A  

                  Test the convergence of the sequence.  
2𝑛2

𝑛2−3𝑛−5
  

 

6 

iz'u&2 Kkr dhft,A (a) lim 𝑥 → 0 
1−2𝑐𝑜𝑠𝑥−cos 2𝑥

𝑥2  

Q.No. 2   fn[kkb;s fd f(x) = sin (1/3x)  ,d leku  (0,1]lrr ij ugha gSA  

               (b) Show that f(x) = sin (1/3x) is not uniformly continuous on (0,1].    

6 

iz'u&3 dk’kh&ek/; izes; dks fy[kdj fl) dhft,A  

Q.No. 3 : State and prove Cauchy mean value theorem.     

6 

 

[k.M c 

Section –B  

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 fn[kkb;s ¼Show that ½  𝑒𝑥𝑐𝑜𝑠𝑥 = 1 − 𝑥 − 
2𝑥2

3!
−

22𝑥4

4!
− 

22𝑥5

5!
− − − − − 

Q.No. 4  

3 

iz'u&5 % Js.kh  cos⁡ 
1

𝑛
  ds vfHklkfjrk dh tkWap djsaA  

Q.No. 5 : Test the convergence of the series  cos⁡ 
1

𝑛
 .  

3 

iz'u&6 Kkr dhft,A 𝑥 → 0 
𝑥𝑒𝑛 −log (1+𝑥)

𝑥2  

Q.No. 6 : Evaluable :  

3 

iz'u&7 fn[kkb;s fd vkjfcVªjh la?k vuko`r leqPp;ksa dk vuko`Rk gksxkA  

Q.No. 7:  show that arbitrary union of open sets is open.   
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Numerical Analysis    

 

                                     Suject Code :      BSC  

10 

                                        Course Code  UGMM -10 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 

[k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

iz'u&1 Kkr dhft, 
Q.No. 1:  Evaluate.  

(i) ∆  
1

1+𝑥3   (ii) ∆𝑛  
1

1+𝑥
  (iii)  1 − ∇  1 + ∆ =  1.  

 

6 

iz'u&2 flEilu 
1

3
rd fu;e dh O;k[;k dhft, rFkk ∫

𝑑𝑥

1+𝑥2

6

0
 dks Kkr dhft,A 

Q.No. 2  Derive simpson 
1

3
rd rule and final ∫

𝑑𝑥

1+𝑥2

6

0
 .       

6 

 

iz'u&3 xkWml lh/kk fof/k ls gy dhft, % 

Q.No. 3 : Solve by Gauss direct method.   2x+3y+4z = 1, 10x+15y 6z = 0,  3x+4y+ 6z = 0 

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 vkO;wg dks vfHkyk{kf.kd eku Kku dhft;sA 

Q.No. 4 : Find eigen values of  the matrix.  A=  
1 3 2
1 1 0
2 1 2

  

3 

iz'u&5 og Qyu Kkr dhft, ftldk izFke vUrj 5x
2
+2x

2
+5x+12 gksA 

Q.No. 5 : Obtain a function whose first difference is 5x
2
+2x

2
+5x+12. 

3 

iz'u&6 lehdj.k ds x
4
+3= 0 ewyksa dks ckblsD’ku fof/k }kjk Kkr dhft,A 

Q.No. 6 : Using Bisection method solve  x
4
+3= 0.   

3 

iz'u&7 fuEufyf[kr lkj.kh esa foyqIr in Kkr dhft,A 

Q.No. 7 :  Find the missing term in the following table :   

x 1 2 3 4 5 6 

f(x)  ? 8 3 0 -1 0 
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Probability and Statistics   

 

                                     Suject Code :      BSC  

11 

                                        Course Code  UGMM -11 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 
                      M.M: 18 

                                                                                                  vad & 18 

1- State and Prove Chebyshev’s Inequality?  

2- X~B(n,p) then prove that. 

(i) E (x) = np 

(ii) V(x) = npq 

(iii) Mxt = [1-P 9(e
t
 – 1)]

n
    

3- Discuss about the skewness and kurtosis? 

                        
[k.M&^c* 

                                                   Section – B                     M.M: 12 

                                                                                    vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 

questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z gSaA  

 

 4. Level of Significance.                       
 5. Hypothesis and its types? 

 6 Correlation and Coefficient Karl Pearsion. 
 7.  Coefficient of Variation?  
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Linear Programming   

 

                                     Suject Code :      BSC  

12 

                                        Course Code  UGMM -12 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 lhEysDl fof/k }kjk iz’u dks gy dhft,A  
Q.No. 1:  Using simplex method solve the problem.  

                 Max Z = 2x1 +5x2 + 7x3. Subject to   3x1+2x2+4x3  100 

                               X1+4x2+ 2x2 ≤ 100 

                               X1+x2+3x3  ≤  100, x1 ≥, x2 ≥ 0,   x3 ≥0.  
 

6 

iz'u&2 VªkWUliksVs’ku Ikz’u dks gy dhft,A 

Q.No. 2  Solve the transportation problem.  

 To  

From 1 2 3 supply 

1 2 7 4 5 

2 3 3 1 8 

3 5 4 7 7 

4 1 6 2 14 

Demand 7 9 18 34 
 

6 

 

iz'u&3 U;wure ,lhUesUV iz’u dks gy dhft,A  

Q.No. 3 : Solve the minimal assignment problem.  

                    

Man→ 

Job ↓ 

1 2 3 4 

I.  12 30 21 15 

II.  18 33 9 31 

III.  44 25 24 21 

IV.  23 30 28 14 

   

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 
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iz'u&4 foØsrk leL;k dks fy[ksaA  

Q.No. 4 : Write the sales man problems.       

3 

iz'u&5 [ksy fof/k ds mi;ksx dks fy[ksaA 

Q.No. 5 :Explain applications of game theory.  
 

3 

iz'u&6 vkWijs’ku jhlpZ ds mi;ksx dks fyf[k;sA 

Q.No. 6 : Write uses of operation research.   

3 

iz'u&7 ,lkbUesUV iz’u ds gaxsjh;u fof/k dks le>kb;sA  

Q.No. 7:  Explain Hungnrium method for assignment problem.  
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Discrete Mathamatics   

 

                                     Suject Code :      BSC  

13 

                                        Course Code  UGMM -13 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 ykWftdy la;kstu dks mnkgj.k ds lkFk foLrkj ls o.kZu dhft,A 
Q.No. 1:  Describe logical connectives with example.  

6 

iz'u&2 ?kqeUrq foØsrk dh leL;k ij mnkgj.k ds lkFk O;k[;k djsaA 

Q.No. 2  Write a short note with example on travelling sales person problem.      

 

6 

 

iz'u&3 mnkgj.k ds lkFk jSf[kd lekaxh jsdjsUl dh O;k[;k dhft,A 

Q.No. 3 : Describe Linear homogenous recurrence with example.  

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 lR;rk lkj.kh cuk;s\  

Q.No. 4 : Construct the truth table   𝑃  ˅𝑄  ˅ 𝑄𝑅 (˅𝑃𝑅) .     

3 

iz'u&5 fl) dhft,A  

Q.No. 5 : Prove that. 
n
Cr +

n
Cr-1 = 

n+1
Cr   

 

3 

iz'u&6 ihxsu&gksy fu;e dh O;k[;k dhft,A 

Q.No. 6 : Explain Pigeon-Hole principle. 

3 

iz'u&7 tsusjsfVax Qyu ij ,d uksV fy[kksA 

Q.No. 7 :  Write a note on generating function.   
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Mathematical Modelling   

 

                                     Suject Code :      BSC  

14 

                                        Course Code  UGMM -14 

                                                                                                                                  DeefOekeâlece Debkeâ  :  30    

  Maximum Marks:  30 

uksV& (Instructions) 

1. Answer all questions. 

lHkh iz’uksa dk mRrj nhft;sA 

2. Question No. 1 to 3 are long answer questions answer should be in 800 to 1000 words 
Ikz’u la[;k 1 ls 3 rd nh?kZ mRrjh; iz’u gS ftudk mRrj 800 ls 1000 'kCnksa esa fy[kuk gSA 

3. In each of the question No. 4 to 7 there are short answer questions answer should be given 

in 200 to 300 words. 
Ikz’u la[;k 4 ls 7 y?kq mRrjh; iz’u gS] ftudk mRrj 200 ls 300 'kCnksa eas fy[kuk gSA 

[k.M v 

 Section-A 

 

vf/kdre vad % 18 

Maximum Marks : 18 

 

iz'u&1 xf.krh; fun’kZu dks mnkgj.k ds lkFk fy[ksa rFkk HkkSfrdh eas blds nks mi;ksfxrkvksa dks 

fy[ksaA 
Q.No. 1:  Describe mathematical modeling with example. Also give its two application in 

physics.  
 

6 

iz'u&2 fo{ksi.k ds xkWl fun’kZ dh foospuk dhft,A 

Q.No. 2  Discuss Gaussion model of distribution.      

 

6 

 

iz'u&3 [ksy fl}kUr D;k gS\ nks O;fDr;ksa ds 'kwU;&;ksx [ksy ls vkidk D;k rkRi;Z gS\ mnkgj.k 

ds lkFk crk;sA 

Q.No. 3 : Describe game theory. What do you mean by two person zero sum games. Explain 

with example. 

6 

 

 

[k.M c 

Section –B  

 

   vf/kdre vad % 12 

                                Maximum Mark : 12 

iz'u&4 izfrxeu ewY;kadu] tksf[ke ewY;kadu rFkk lafoHkkx ewY;kadu ¼p;u½ dks crk;saA 

Q.No. 4 : Discuss return valuation, risk valuation and portfolio selection.       

3 

iz'u&5 lkekftd&vkfFkZd Ik;kZoj.k dk o.kZu dhft,A 

Q.No. 5 : Describe socio-economics environment.   
 

3 

iz'u&6 ,dkf/kdkj rFkk }Sf/kdkj dh O;k[;k dhft,A 

Q.No. 6 : Explain monopoly and Duopoly.   

3 

iz'u&7 yksVdk&oksYVjk lehdj.k nks tUrqvksa ds funs’kZu ds lEcU/k esa mn~/k`r dhft;sA 

Q.No. 7 :  State Lotka-Volterra equations in connection with two species model.  
 

3 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Microsoft Office and Internet 

 

                                     Suject Code :       BSC 

                                        Course Code  UGSSC-01 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

   

1 Write the steps for staring the heights of 10 students of a class in an excel 
worksheet. Also write the steps for sorting this data in ascending order of height. 
Calculating the average height and the standard deviation using formulas in excel.  

fdlh d{kk ds fdUgha 10 Nk=ksa dh ÅWapkbZ dks ,d ,Dly odZ”khV esa laxzghr djus ds 

pj.kksa dks fy[ksaA ,Dly fof/k dk bLrseky djrs gq, bl MsVk dks ÅWapkbZ ds vkjksgh Øe 

esa fy[kus] vkSlr ÅWapkbZ fudkyus rFkk ekud fopyu fudkyus ds pj.kksa dk Hkh mYys[k 

djsaA  

2 Explain how the following tasks are done in MS-WORD: 
1 Creating document template.  
2 Finding and replacing some test. 
3 Paragraph setting.  

,e,l& oMZ esa fuEufyf[kr dk;ksZa dks djus ds pj.kksa dk o.kZu djsa% 

1 Document template cukukA 

2 fdlh VsDLV dks <wWa<uk ,oa cnyukA 

3 iSjkxzkQ lsV djukA 

3 Explain the views in power point. Write the steps for creating graphs, tables and 
making charts in power point.  

ikoj IokbaV esa oho D;k gksrk gS\ o.kZu djsaA ikoj IokbaV esa xzkQ] Vscy rFkk pkVZ cukus 

ds pj.kksa dk mYys[k djsaA 

              

[k.M & *c* 

Section ‘B’ 
veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 150 mes 250 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 150 to 250 words. All 

questions are compulsory.  

4 Write a note on the Internet.  
bUVjusV ds Åij ,d uksV fy[ksaA 

5 Briefly explain the file transfer protocol (FTP) 
Qkby VªkUlQj izksVksdky dks la{ksi esa crk,aA 

vf/kdre vad  % 12 

Maximum Mark  : 12 
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6 Explain what is telnet.  
VsyusV D;k gS\ o.kZu djsaA 

7 What is a browser? List some of the commonly used browsers.  
czkmtj D;k gS\ izk;% bLrseky gksus okys czkmtjksa esa ls dqN ds uke crk,WaA 

8 Write a short note on Usenet & Newsgroup.  
Usenet rFkk Newsgroup ij ,d laf{kIr uksV fy[ksaA 

9 List the basic elements and parts of a window.  
foaMks ds ewyHkwr rRoksa ,oa Hkkxksa dk mYys[k djsaA  
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

 
1.    Write short notes on the following:  

       (a) Minimum Spanning Tree  

       (b) Indexed File Organization  

2.    Write a C program to read the contents of a file and store it in another file.  

3.    Write a C Program to implement Bubble Sort.  

                                      [k.M c                             vf/kdre vad % 12 

                                                                Section- B                                          Maximum Marks: 12 
 

4.    Calculate the sum of first hundred natural numbers using recursion.  

5.    List the difference between a structure and a union.  

6.    Explain Breadth First Search algorithm for graph traversal.  

7.    Discuss the implementation of lists using pointers.  

 

 
 

 
 
 

 
 
 

 
 

 
 
 

 
 

Subject : Seience 

Course Title:    Problem Solving and Programming     
                       through C 

 

                                     Suject Code :       BSC 

                                        Course Code  UGSSC-06 
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(Assignment)  2016-2017 

Bachelor of Science Programme (B. Sc.) 

Subject : Seience 

Course Title: Computer Network & Security Maintenance 

 

                                Suject Code :       BSC 

                              Course Code  UGSSC-08 

  

 

                                                                                                                                                      DeefOekeâlece Debkeâ  :  30   

                                                                                                                                     Maximum Marks:  30 
 

veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

1 What do you understand by network topology? Explain different types of network topologies.    

usVodZ lkafLFkfr ls vki D;k le>rs gSa\ usVodZ lkafLFkfr ds fofHkUu izdkjksa dk o.kZu djsaA  

2 What is Ethernet? Explain the configuration of Ethernet and the Ethernet frames.  

bZFkjusV D;k gS\ bZFkjusV foU;kl rFkk bZFkjusV QkeZ dk o.kZu djsaA 

3 Explain the following terms in relation to network management -  
i      Quality of service analysis. 
ii     Propagation delay 
iii    Response Time 
iv   Throughput  

usVodZ izca/ku ds lUnHkZ esa fuEufyf[kr dh O;k[;k djsa &  

  

                                                           Section – B 
           KeC[ - ye   DeefOekeâlece Debkeâ     :  12 

     Maximum Marks:  12 
4 What is the difference between connection oriented and connection less transmission. Also 

differentiate between synchronous and asynchronous transmissions.  
dusD”ku vfHkfoU;Lr rFkk dusD”ku jfgr izlkj.k esa D;k vUrj gS\ rqY;dkfud rFkk vrqU;dkfyd 

izlkj.k ds vUrj dks Hkh crk,WaA 

5 What is a firewall? Differentiate between packet filter firewall and peeory firewall.  
firewall D;k gS\ packet filter firewall rFkk peeory firewall esa vUrj crk,WaA 

6 Explain how a virtual private network (VPN) works. 
virtual private network (VPN) dSls dke djrk gS\ le>k,WaA  

7 Briefly explain the meehanism of digital signature.  
Digital signature ds ra= dks la{ksi esa le>k,WaA 

8 Write short notes on the following : 
fuEufyf[kr ij laf{kIr fVIi.kh fy[ksa % 

i  Telnet 
ii  ISP 

9 List the different internet working devices.  
internet working esa iz;qDr gksus okyh fofHkUu midj.kksa dk mYys[k djsaA 

          


